Vzdélavani v souvislostech — abstrakt

Problém Ceského Skolstvi je v tom, Ze naSi Zaci a studenti jsou ve srovnavanych zemich
na stifednim misté v uméni reprodukovat nauc¢ené pojmy, ale na poslednich mistech ve
schopnosti jejich aplikace a zarazeni do Sirokého systému vztah(. Tento problém by mohl
do jisté miry fesit Dvoustranny pedagogicky systém zaloZzeny na vzdélavani v Sirokych
souvislostech. To znamena, Ze by se kazdému zakovi pfi probirani uciva predkladala
systematicky tzv. ,souvislostni poznatkova protistruktura“, tj. mnozstvi vyextrahovanych
myslenkovych jader souvisejicich s tématem v podobé& pohled( rliznych odbornikd

z mnoha stran na probiranou problematiku. Zaci by pak uméli Iépe zaradit nové pojmy do
Sirokého systému vztahl a Iépe je aplikovat. Nékteré pojmy by mély moznost navic
LZrat“ mnohem dfive, nez budou explicitné probirany.

The problem of the Czech Republic’'s educational system is the inability of pupils to apply
and incorporate the knowledge they acquire into a broad system of relations. According
to studies comparing the abilities of pupils from different countries, Czech pupils rank
average when it comes to reproducing the notions they have learned, but last for
applying and incorporating this knowledge into a broader system. However, a two-sided
pedagogical system based on wide scope education could solve this problem to a certain
extent. This concept, also referred to as ‘knowledge anti-structure relation’, means that
thought substance, or gist, related to a topic and presented in the form of experts™
different views on the discussed issue, would be systematically presented to each pupil
during their studies. This system would allow pupils to incorporate new concepts into a
wider system of relations and to apply them in a better way. Consequently, these
concepts would be acquired implicitly by the pupils instead of explicitly.





